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9 8B E5 95 c67 470384.htm Section1: 0 0 O O 1. The work in
those two offices is equivalent, but the pay is different.2. The office
was in close proximity to Celias house. however, it was a long drive
inthe heavy traffic.1. D OO OO0 0OOOOOO 2.00 Section 2
O OO0 0O O 1. The office was in close proximity to Anns house
before she moved. now she lives an hours drive away.How do you
know that proximity means ? What signal was used for
contrast?2. A signature on this form was previously optional. now it
Is required.How do you know that optional means ?
What signal was used for contrast? 100Test 0 O O 0O 0O 0O 0O O O O
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